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is continuous at x = 1 and x = 2. 
 

 

3.a)  Find the differential coefficient of 2
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   b)  Find the differential coefficient of 4(2x 1) x x+
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4.a)   Find the length of the normal at any point P of the rectangular hyperbola 

2 2x y a− =   and show that it is equal to the distance of P from the origin. 
   b)  Find the length of the subnormal to the curve 2 4x ay=  at (4a, 4a). 
 
5.a)  If  where ( )u f r= 2 2 2x y r+ =  then prove that 
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6.a)  Evaluate log log(log )x x dx
x∫ . 

   b)  Evaluate
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7.a)  Form the differential equation, from the relation 
2 3x x xy ae be ce−= + + . 

   b)  Solve the differential equation  dy
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8.   Solve the following differential equations   
   a)  . 3( 2 )y yye dx y xe dy= +

   b)  . / /(1 ) (1 / ) 0x y x ye dx x y e dy+ + − =
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